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while    Schleifenbedingung 

      Schleifensequenz 

end 


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Zahl=ceil(6*rand) 



    

Zahl=ceil(6*rand); 

Anzahl_der_Durchläufe=1; 

While  Zahl < 6 

 m=m+1; 

 Zahl=ceil(6*rand) 

end 
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  for  Schleifenvariable = Start : Schritt : Ende 

      Schleifensequenz 

  end 
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
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n=10; 

for x=0:0.1:n 

 disp(x) 

 disp(sin(x)) 

end 

 



Summe=0; 

for 1:100  %Schrittweite 1 kann weg gelassen werden 

 Summe = Summe + i; 

end 
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Summe=0; 

for i=1:2:100  % Letzte Zahl ist 99 

 Summe=Summe + i; 

end 

 



Fak=1; 

for i=10:-1:1  % Herunterzählen 

 Fak=Fak*i 

end 
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n=1; 

for Zaehler= 1:n 

 if ceil(6*rand)~=6 

  n=n+1;  % wirkungslos 

 end 

end 
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

step=1; 

for Zaehler =1:step:10 

 disp(Zaehler); 

 Step=step + 11;  % wirkungslos 

end 

 



for z=1:10 

  disp(z); 

 Z=z+1;  % wirkt nur im Block 

 disp(z); 

end 
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